Билет №16.

3)


[image: image24.wmf]2

5

1

k

25

24

1

D

0

6

k

k

2

,

1

2

±

-

=

=

+

=

=

-

+


4)

[image: image2.wmf]x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

общ

x

x

x

e

x

xe

C

e

C

x

y

e

x

y

B

A

B

A

A

x

B

B

A

B

A

x

A

A

A

x

B

Ax

B

A

Ax

B

A

Ax

xe

B

Ax

e

B

A

x

e

B

x

A

e

Be

x

Ae

Be

e

xe

A

y

Be

x

Ae

Be

xe

A

y

e

B

Ax

y

я

ур

хар

корнем

явл

не

C

C

xe

C

e

C

x

y

я

ур

о

однородног

решение

общее

ФСР

xe

y

e

y

е

ур

т

характерис

однородное

линейное

соотв

y

y

y

ДУ

неодн

лин

xe

y

y

y

5

2

1

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

2

1

2

1

2

1

2

,

1

2

5

)

32

1

16

(

)

(

)

32

1

16

(

~

32

1

16

1

0

16

8

1

16

)

10

2

25

10

(

)

10

25

(

)

5

5

(

2

25

10

25

)

(

)

5

)

1

5

((

2

)

25

)

10

25

(

(

25

)

10

25

(

25

)

5

)

(

5

(

~

5

)

1

5

(

5

)

(

~

)

(

~

,

.

.

.

.

,

5

,

,

)

(

:

.

.

.

,

1

0

)

1

(

.

:

0

1

2

.

.

0

2

.

.

.

2

-

+

+

=

-

=

ï

ï

î

ï

ï

í

ì

-

=

=

Û

î

í

ì

=

+

=

=

+

-

-

+

+

+

-

=

+

+

+

+

-

+

+

=

+

+

+

+

-

+

+

+

+

=

+

+

¢

=

¢

¢

+

+

=

+

¢

=

¢

+

=

Þ

-

=

Â

Î

+

=

-

-

=

=

=

Þ

=

-

-

=

+

-

-

=

+

¢

-

¢

¢

-

=

+

¢

-

¢

¢

l

l

l

l

l


Билет 17.

3)


[image: image3.wmf]ò

ò

=

-

=

=

-

=

2

0

2

2

0

2

2

15

16

)

2

(

2

pi

dx

x

x

pi

dx

y

pi

V

x

x

y


4)


[image: image4.wmf]t

t

t

t

t

t

t

t

t

t

t

t

e

C

e

C

y

e

C

e

C

x

решение

Общее

e

y

e

x

реш

e

C

C

при

C

C

C

C

C

C

Для

e

y

e

x

решение

e

C

C

C

C

C

C

C

C

C

C

C

C

Для

e

C

y

e

C

y

e

C

x

e

C

x

е

ур

Характ

y

x

dt

dy

y

x

dt

dx

2

5

1

2

5

1

2

1

2

2

2

2

2

1

2

2

2

1

2

2

1

2

5

5

1

2

1

1

1

2

1

1

1

2

1

1

1

2

1

1

1

2

1

1

1

2

1

1

2

2

2

5

2

1

1

1

2

2

5

1

1

1

2

1

2

3

:

,

3

:

.

2

3

1

;

3

0

3

0

3

:

1

,

:

.

1

1

;

0

0

3

3

0

)

5

4

(

0

3

)

5

2

(

:

5

1

;

5

0

5

6

0

4

1

3

2

:

.

.

4

3

2

+

=

-

=

=

-

=

-

-

=

=>

=

-

=

ï

î

ï

í

ì

=

+

=

+

=

=

=

-

=

=

=

ï

î

ï

í

ì

=

-

=

+

-

ï

î

ï

í

ì

=

-

+

=

+

-

=

=

=

=

=

=

=

=

+

-

=

-

-

-

ï

ï

î

ï

ï

í

ì

+

=

+

=

l

l

l

l

l

l

l

l


Билет 18

3)

[image: image5.wmf]3

8

)

4

1

(

4

1

1

4

,

4

4

2

2

2

2

2

2

2

2

2

p

p

=

-

=

-

=

=>

=

+

=

+

ò

-

dy

y

V

y

x

y

x

Oy

y

x



 EMBED Equation.3  [image: image6.wmf]
4)


[image: image7.wmf]однород

лин

p

p

x

неоднород

лин

e

x

p

p

x

p

y

x

p

y

e

y

y

e

x

y

y

x

x

x

.

0

.

.

)

(

)

1

(

,

0

)

1

(

//

2

2

-

=

-

¢

-

=

-

¢

¢

=

¢

¢

=

¢

=

¢

=

=

¢

-

¢

¢



[image: image8.wmf])

1

(

0

0

)

(

1

0

0

2

1

:

1

//

)

1

(

2

2

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

.

(

)

(

2

1

1

1

2

1

1

2

2

1

2

1

1

1

1

1

2

2

2

-

=

Þ

î

í

ì

=

=

Þ

ï

î

ï

í

ì

=

+

=

+

+

=

+

=

¢

+

-

+

=

-

+

=

+

=

=

¢

=

+

=

=

+

=

>

-

=

¢

=

¢

=

-

+

¢

-

-

+

¢

=

¢

=

=

=>

=

=>

=

ò

ò

ò

ò

x

e

y

C

C

e

C

e

C

e

C

x

условии

при

x

e

x

C

y

C

x

e

x

C

y

dx

e

xe

x

C

xdx

C

xdx

e

pdx

y

y

x

C

e

p

const

С

где

C

e

x

C

e

x

C

e

x

x

C

x

e

x

x

x

C

x

x

C

x

x

C

x

подставим

x

C

x

x

C

p

Лагранжа

Метод

x

x

C

p

cx

p

x

dx

p

dp

p

x

dx

dp

x

ответ

x

x

x

x

x

x

x

x

x

x


Билет 19.
3)
[image: image9.png]




[image: image10.wmf]40

2

2

cos

40

2

cos

4

10

)

cos

1

(

2

10

cos

2

1

1

5

2

sin

5

2

2

)

cos

1

(

5

0

0

2

0

0

0

2

2

2

0

=

=

=

+

=

+

+

=

-

=

¢

¢

+

=

=

+

=

ò

ò

ò

ò

ò

ò

l

d

d

l

d

l

d

l

r

d

r

r

dl

l

r

pi

pi

pi

pi

j

j

j

j

j

j

j

j

j

j

j

p

p


4)

[image: image11.wmf]t

t

t

t

t

i

i

i

e

C

e

C

Z

Z

Z

Ответ

e

C

Z

C

a

e

C

Z

C

a

e

C

a

решение

ЛА

в

как

a

вектора

е

собственны

находим

E

A

A

y

x

dt

dy

y

x

dt

dx

i

3

2

1

2

1

3

2

2

2

2

1

1

1

1

2

1

2

2

1

2

1

:

2

1

2

1

:

3

)

2

2

1

2

1

:

1

)

1

,

)

(

3

,

1

3

2

)

det(

1

4

1

1

4

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

=

Þ

÷

÷

ø

ö

ç

ç

è

æ

-

=

=

÷

÷

ø

ö

ç

ç

è

æ

=

=>

÷

÷

ø

ö

ç

ç

è

æ

=

-

=

=

=

-

=

-

-

=

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

ï

ï

î

ï

ï

í

ì

+

-

=

-

=

-

-

l

l

l

l

l

l

l

l


Билет 20.
3)


[image: image12.wmf]!

)!

(

)

(

)

(

.

.

4

1

)

4

(

4

)

2

1

(

2

2

2

/

//

)

//(

)

1

(

arctan

//

)

//(

2

/

0

)

1

(

2

arctan

?

//

)

//(

)

1

(

arctan

2

1

2

1

1

3

3

2

3

3

2

3

2

1

2

lim

N

и

сходится

B

силу

в

сходится

A

K

к

т

K

x

x

x

dx

dx

x

Исследуем

B

x

x

xdx

A

x

x

x

x

x

x

x

x

сходится

N

x

x

xdx

x

ò

ò

ò

ò

>

-

Þ

=

=

-

=

-

+

-

=

-

=

=

=

+

>

Þ

¹

"

>

+

=

+

<

«

+

¥

®

¥

¥

¥

¥

p

p

p

p

p

p

p

p


4)


[image: image13.wmf]t

t

t

t

t

i

i

i

e

C

e

C

Z

Z

Z

Ответ

e

C

Z

C

a

e

C

Z

C

a

e

C

a

решение

ЛА

в

как

a

вектора

е

собственны

находим

E

A

A

x

dt

dy

y

x

dt

dx

i

2

3

1

2

1

2

2

2

2

3

1

1

1

1

2

1

2

1

1

1

3

:

1

1

1

1

:

1

)

2

1

3

1

3

:

3

)

1

,

)

(

1

,

3

3

2

)

det(

0

1

3

2

3

2

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

=

Þ

÷

÷

ø

ö

ç

ç

è

æ

-

=

=

÷

÷

ø

ö

ç

ç

è

æ

=

=>

÷

÷

ø

ö

ç

ç

è

æ

=

-

=

=

=

-

=

-

+

=

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

=

ï

ï

î

ï

ï

í

ì

-

=

-

-

=

-

-

l

l

l

l

l

l

l

l


Билет № 10.

3) Вычислить длину дуги кривой y = α∙ln(α–x2) от x1 = 0 до x2 = 
[image: image14.wmf]2

a


 EQ 
[image: image15.wmf]dx

(y')

1

S

a

b

2

ò

+

=

, 
[image: image16.wmf](

)

(

)

(

)

(

)

3

ln

a

2

a

2

1

2

3

ln

a

2

a

x

a

x

a

ln

a

2

a

x

a

x

a

ln

a

2

1

a

2

2

a

x

a

dx

a

2

dx

dx

x

a

a

2

1

dx

x

a

x

a

dx

x

a

x

a

dx

x

a

a

x

4

x

x

a

2

a

dx

x

a

a

x

4

1

dx

x

a

xa

2

1

S

2

a

2

a

2

2

a

0

2

2

2

2

a

0

2

a

0

2

2

2

2

a

0

2

2

2

2

2

a

0

2

2

2

2

2

2

2

a

0

2

2

2

2

2

4

2

2

4

2

a

0

2

2

2

2

2

2

a

0

2

2

2

0

0

+

-

=

+

-

=

-

+

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

+

+

-

=

=

-

+

-

=

-

-

+

-

=

-

+

=

-

+

=

=

-

+

+

-

=

-

+

=

÷

ø

ö

ç

è

æ

-

+

=

ò

ò

ò

ò

ò

ò

ò

ò


4)
y’’+ y’- 6y =2 sin x
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Ответ:   y = 
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